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Classe de 5°

Exercice 1

Calculer les expressions suivantes en détaillant les calculs.

A=2x10-13 D=12-2x(6+7)+ (5+28)

B=5+2x12 E=7+3+8x11+(12—11)
C=12x9—4 F=2x6+2+8—(6+5)
Exercice 2

Calculer les expressions suivantes en détaillant les calculs.
A=13x(5—-2)
B=3x74+9

C=6+11-11

D=8—-T7+5x8=+10+7
E=3+34645x(9—28)
F=9x10+8+2+6—12

Exercice 3

Calculer les expressions suivantes en détaillant les calculs.

A=2x(3+5) D=10+6x (9+11) =8 —12
B=9-12+3 F=9—-6x8=-8+11+7
C=12-2+3 F=4+12x9+6=(9-3)
Exercice 4

Calculer les expressions suivantes en détaillant les calculs.

A=10+3x6
B=2x(9+11)
C=8x11+11

D=7+9+8+(4—3)x11
E=12x6+8+11—(2+38)
F=4-9+943x(13+9)

Exercice 5

Calculer les expressions suivantes en détaillant les calculs.

A=8x2-10 D=8x2+8+8+6-11
B=11+6-2 E=10x (114+7)+10+2-10
C=8+4+9x6 F=9+9+13x(9-7)+3
Exercice 6

Calculer les expressions suivantes en détaillant les calculs.

A=9x4=2 D=34+8x7+7—-4+4
B=4x12-7 E=7+8+6x13+-2-9
C=9+9-12 F=134+7—-3+12+12x9
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G=3+134+10—12x 12+ 12
H=76x94+85—52+4,4
I=42+97x78+35—52

G=8+8+2—-8x11+8
H =4,9%(9,249,5)—(9,3+7,2)
I=9+31+12x95—69

G=13+12x3= (12— (4+5))
H=73-51+31x(7,4+34)
I=31+68+17x(7T+23)

G=3x(12+10)—9+3=3
H=81-(41+23)+2x19
I=85—-65+72+28x57

G=4+4%x(2+12)—6=6
H=93-66+52+96x17
I=18%x8—(T+57)+15

G=3=+3x124+5+6-6
H=2+9x (91— (4,5+36))
I=12%x36+9—(8+32)
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